## WEIGHTED LATTICE PATHS

R. D. Fray and D. P. Roselle


#### Abstract

A lattice path in the plane from ( 0,0 ) to ( $m, n$ ) with weighted horizontal, vertical, and diagonal steps will be called a weighted lattice path. We determine the number of unrestricted weighted lattice paths, the number of paths below a line, and the number of paths which must remain between two parallel lines with unit slope. We also obtain generating functions for the number of paths which remain below the line $y=x$; these extend results obtained by Carlitz and Riordan for the ballot numbers.


The number, $\binom{m+n}{n}$, of unrestricted minimal lattice paths from $(0,0)$ to ( $m, n$ ) is an old and well-known result, see MacMahon [5, I, p. 167] or Feller [3, p. 68]. The Catalan number $c_{n}=\binom{2 n}{n} /(n+1)$ is the number of paths from $(0,0)$ to $(n, n)$ which never rise above the line $y=x$ (c.f. [1]). The enumeration of the paths which must remain below the line $y=a x+b$ has been obtained by Lyness [4], Mohanty and Narayana [7], and Carlitz, Roselle, and Scoville [2]. Recently several authors [6], [8], and [10] have considered the same problem when diagonal steps are allowed in addition to the usual horizontal and vertical steps, and Stanton and Cowan [11] studied the resulting numbers in a different connection.

In [6] Mohanty and Handa enumerate the unrestricted lattice paths from $(0,0)$ to $(m, n)$ where $\mu$ diagonal steps are allowed at each position. They also determine the number of such paths which must remain below the line $x=a y$, and they indicate that a formula can be obtained for the number of paths which must remain below $x=a y-b$, where $a$ and $b$ are nonnegative integers. All of these results have been extended to weighted lattice paths in the present paper.

We remark that we will treat the case of weighted lattice paths bounded above and below by functions which are not necessarily straight lines in a paper now under preparation. This paper will also contain a generalization of a problem posed by Elwyn Berlekamp and solved in [2].
2. Unrestricted lattice paths. By a weighted lattice path we mean a path from $(0,0)$ to $(n, k)$ where a lattice point $(i, j)$ may be approached from any of the lattice points $(i, j-1)$, $(i-1, j)$, or ( $i-1, j-1$ ), and the horizontal steps are assigned the weight $x$, the
vertical steps the weight $y$, and the diagonal steps the weight $z$. If $f(n, k)=f(n, k \mid x, y, z)$ denotes the number of weighted lattice paths from $(0,0)$ to $(n, k)$, then it is immediate that

$$
\begin{equation*}
f(n, k)=x f(n-1, k)+y f(n, k-1)+z f(n-1, k-1), \tag{2.1}
\end{equation*}
$$

whenever $n, k \geqq 1$. It is clear that (2.1), together with the initial conditions $f(n, 0)=x^{n}$ and $f(0, k)=y^{k}$, determines $f(n, k)$. The following table gives the first few values of $f(n, k)$.

| $n$ | 0 | 1 | $f(n, k)$ | 3 |
| :---: | :---: | :---: | :---: | :---: |
| 0 | 1 | $y$ | $y^{2}$ | 3 |
| 1 | $x$ | $2 x y+z$ | $3 x y^{2}+2 y z$ | $y^{3}$ |
| 2 | $x^{2}$ | $3 x^{2} y+2 x z$ | $6 x^{2} y^{2}+6 x y z+z^{2}$ | $4 x y^{3}+3 y^{2} z$ |
| 3 | $x^{3}$ | $4 x^{3} y+3 x^{2} z$ | $10 x^{3} y^{2}+12 x^{2} y z+3 x z^{2}$ | $20 x^{3} y^{3}+30 x^{2} y^{2} z+12 x y z^{2}+z^{3}$ |
| 4 | $x^{4}$ | $5 x^{4} y+4 x^{3} z$ | $15 x^{4} y^{2}+20 x^{3} y z+6 x^{2} z^{2}$ | $35 x^{4} y^{3}+60 x^{3} y^{2} z+30 x^{2} y z^{2}+4 x z^{3}$ |
| 5 | $x^{5}$ | $6 x^{5} y+5 x^{4} z$ | $21 x^{5} y^{2}+30 x^{4} y z+10 x^{3} z^{2}$ | $56 x^{5} y^{3}+105 x^{4} y^{2} z+60 x^{3} y z^{2}+10 x^{2} z^{3}$ |

In the next place, if we put

$$
F_{k}(u)=\sum_{n=0}^{\infty} f(n, k) u^{n},
$$

it follows from (2.1) that

$$
F_{k}(u)=x u F_{k}(u)+y F_{k-1}(u)+z u F_{k-1}(u) .
$$

Repeated application of this recurrence gives

$$
\begin{aligned}
F_{k}(u) & =\left(\frac{y+z u}{1-x u}\right)^{k} F_{0}(u) \\
& =\left(\frac{y+z u}{1-x u}\right)^{k} \frac{1}{1-x u} \\
& =\sum_{n=0}^{\infty} u^{n} \sum_{r=0}^{n}\binom{k}{r}\binom{n+k-r}{k} x^{n-r} y^{k-r} z^{r} .
\end{aligned}
$$

Therefore we obtain

$$
\begin{equation*}
f(n, k)=\sum_{r=0}^{n}\binom{k}{r}\binom{n+k-r}{k} x^{n-r} y^{k-r} z^{r} \tag{2.2}
\end{equation*}
$$

In particular, we have

$$
\begin{gather*}
f(n, k \mid 1,1, z-1)=\sum_{r=0}^{n}\binom{n}{r}\binom{k}{r} z^{r},  \tag{2.3}\\
f(n, k \mid 1,1,0)=\binom{n+k}{k},
\end{gather*}
$$

$$
\begin{equation*}
f(n, k \mid 1,1,1)=\sum_{r=0}^{n} \frac{(n+k-r)!}{r!(n-r)!(k-r)!}, \tag{2.5}
\end{equation*}
$$

where (2.3) follows by an application of equation (5) on page 8 in [9]. The equation (2.4) is the familiar result stated in the introduction, and (2.5) is due to Moser and Zayachkowski [8] and Stanton and Cowan [11].

Note that it follows from (2.2) that

$$
f(k, n)=\left(\frac{y}{x}\right)^{n-k} f(n, k)
$$

and

$$
f(n, k \mid x, y, x y)=x^{n} y^{k} f(n, k \mid 1,1,1)
$$

We remark that (2.2) could be obtained directly from equation (1) in [6]. It is also possible to give a simple combinatorial proof of (2.2). By a block on a weighted lattice path from $(0,0)$ to $(n, k)$, we mean one of the moves $(i, j) \rightarrow(i+1, j+1)$ or $(i, j) \rightarrow(i, j+1) \rightarrow$ ( $i+1, j+1$ ). Next notice that a path consists of blocks connected by moves of the form $(i, j) \rightarrow(i+h, j) \rightarrow(i+h, j+t)$. Now if a path contains $r$ blocks, it is immediate that the rows in which these blocks can occur can be chosen in $\binom{k}{r}$ ways and the columns may be chosen in $\binom{n}{r}$ ways. Since there are $n-r$ remaining horizontal steps and $k-r$ remaining vertical steps, and since a block has weight $x y+z$,

$$
\begin{aligned}
f(n, k) & =\sum_{r=0}^{n}\binom{n}{r}\binom{k}{r}(x y+z)^{r} x^{n-r} y^{k-r} \\
& =\sum_{s=0}^{n}\binom{k}{s}\binom{n+k-s}{k} x^{n-s} y^{k-s} z^{s}
\end{aligned}
$$

In particular, it follows that

$$
f(n, k \mid x, y,-x y)=x^{n} y^{k}
$$

3. Paths below $\mathrm{y}=\mathrm{x}+\mathbf{r}$ and $\mathrm{x}=\mathrm{sy}$. Next we obtain the number, $e(n, k, r \mid x, y, z)=e(n, k, r)$, of weighted lattice paths from $(0,0)$ to $(n, k)$ which remain below the line $y=x+r$, for $r$ a positive integer. Let $g(n, k, r)$ be the number of weighted paths from ( 0,0 ) to ( $n, k$ ) which touch, cross, or traverse the line $y=x+r$. Then it is immediate that

$$
\begin{equation*}
e(n, k, r)+g(n, k, r)=f(n, k) \tag{3.1}
\end{equation*}
$$

First we shall determine $g(n, k, r)$ for ordinary lattice paths, that is, we let $x=y=1$ and $z=0$. Note that any such path $\alpha$ which touches $y=x+r$ does so at a last lattice point and that if the portion of $\alpha$ from this point to $(n, k)$ is reflected about the line $y=x+r$, we obtain a path $\alpha^{\prime}$ from $(0,0)$ to $(k-r, n+r)$. Since this procedure is reversible, we obtain

$$
\begin{equation*}
g(n, k, r \mid 1,1,0)=\binom{n+k}{n+r} \tag{3.2}
\end{equation*}
$$

In order to determine $g(n, k, r)$ for the general case, suppose we are given a weighted lattice path from $(0,0)$ to $(n, k)$ with $t$ diagonal steps which touches the line $y=x+r$. Removing the $t$ diagonal steps we obtain a path from $(0,0)$ to $(n-t, k-t)$ with no diagonal steps which touches $y=x+r$. Since we may reverse this process, we have from (3.2), allowing for the weighting factors,

$$
\binom{n+k-2 t}{n-t+r}\binom{n+k-t}{t} x^{n-t} y^{k-t} z^{t}=\binom{k-r}{t}\binom{n+k-t}{k-r} x^{n-t} y^{k-t} z^{t}
$$

paths from $(0,0)$ to $(n, k)$ with $t$ diagonal steps which touch $y=x+r$. Hence

$$
\begin{aligned}
g(n, k, r) & =\sum_{t=0}^{n+r}\binom{k-r}{t}\binom{n+k-t}{k-r} x^{n-t} y^{k-t} z^{t} \\
& =\left(\frac{y}{x}\right)^{r} f(n+r, k-r) .
\end{aligned}
$$

It follows from (3.1) that

$$
e(n, k, r)=f(n, k)-\left(\frac{y}{x}\right)^{r} f(n+r, k-r)
$$

where $n \geqq k-r$ and $1 \leqq r \leqq k$.
It will be convenient to let $b(n, k)$ denote the number of paths from $(0,0)$ to ( $n, k$ ) which remain below the line $y=x$. Since any such path must first go to $(1,0)$ we see that

$$
b(n, k)=x e(n-1, k, 1)=x f(n-1, k)-y f(n, k-1)
$$

From this last expression and (2.2), we find that for $k \geqq 1$

$$
\begin{equation*}
b(n, k)=\frac{n-k}{k} \sum_{r=0}^{n}\binom{k}{r}\binom{n+k-1-r}{k-1} x^{n-r} y^{k-r} z^{r} \tag{3.3}
\end{equation*}
$$

In the next place, let $a(n, k)$ be the number of weighted paths from ( 0,0 ) to ( $n, k$ ) which may touch, but not traverse or cross, the line $y=x$. Then for $n \geqq 1$, we have

$$
\begin{equation*}
b(n, k)=a(n, k)-y a(n, k-1) \tag{3.4}
\end{equation*}
$$

This formula follows easily for $n=k$. For $n>k$ (3.4) will follow by showing that $y a(n, k-1)$ is the number of weighted lattice paths from $(0,0)$ to $(n, k)$ which must touch the line $y=x$ at a point different from $(0,0)$. Now a path which must touch $y=x$ does so at a last point, and the immediately preceding step must have been a vertical step. If this vertical step is removed, we obtain a path from ( 0,0 ) to ( $n, k-1$ ) which may touch the line $y=x$. Since this process is reversible we obtain (3.4). Now from (3.3) and (3.4) we have

$$
\begin{aligned}
a(n, k) & =b(n, k)+y a(n, k-1) \\
& =\sum_{j=0}^{k} y^{j} b(n, k-j) .
\end{aligned}
$$

After a little reduction we find that

$$
a(n, k)=\sum_{r=0}^{k} \frac{1}{n}\binom{n}{r} x^{n-r} y^{k-r} z^{r} \sum_{j=0}^{k-r}(n-r-j)\binom{n+j-1}{j}
$$

In particular,

$$
\begin{equation*}
a(n, n \mid 1,1, z-1)=\sum_{r=0}^{n} \frac{1}{n}\binom{n}{r}\binom{n}{r+1} z^{r} \tag{3.5}
\end{equation*}
$$

The numbers $a(n, n \mid 1,1,0)$ are the Catalan numbers mentioned in the introduction, and it is interesting to note that the coefficients of $z^{r}$ in the right member of (3.5) are what Riordan [9, p. 17] has called the Runyon numbers.

Let $s$ be a positive integer, and let $b(n, k, s)$ denote the number of weighted lattice paths from $(0,0)$ to $(n, k)$ which remain below the line $x=s y$. Then $b(s k, k, s)=0, b(n, 0, s)=x^{n}$, and

$$
\begin{align*}
b(n, k, s)= & x b(n-1, k, s)+y b(n, k-1, s)  \tag{3.6}\\
& +z b(n-1, k-1, s)
\end{align*}
$$

whenever $n>s k$. It is now straightforward to verify that for $k \geqq 1$

$$
\begin{equation*}
b(n, k, s)=\frac{n-s k}{k} \sum_{r=0}^{n}\binom{k}{r}\binom{n+k-1-r}{k-1} x^{n-r} y^{k-r} z^{r} \tag{3.7}
\end{equation*}
$$

which agrees with (3.3).
Again, if $a(n, k, s)$ denotes the number of weighted paths from $(0,0)$ to ( $n, k$ ) which may touch, but not traverse or cross, the line $x=s y$, then as before

$$
b(n, k, s)=a(n, k, s)-y a(n, k-1, s) .
$$

Combining this with (3.7) we have

$$
a(n, k, s)=\sum_{r=0}^{n} \frac{1}{n}\binom{n}{r} x^{n-r} y^{k-r} z^{r} \sum_{j=0}^{k-r}(n-s(r+j))\binom{n+j-1}{j}
$$

4. Paths bounded above and below. Let $D(n, k ; r, s)$ denote the number of ordinary lattice paths from $(0,0)$ to $(n, k)$ which remain below the line $y=x+r$ and above the line $y=x-s$, where $r$ and $s$ are positive integers. In order to determine $D(n, k ; r, s)$ we shall enumerate the paths from $(0,0)$ to $(n, k)$ with a particular touch sequence. A path from $(0,0)$ to $(n, k)$ is said to have a touch sequence of the form rsr, for example, if it touches or crosses the line $y=x+r$ one or more times without touching $y=x-s$, then touches $y=x-s$ several times without touching $y=x+r$, and then touches $y=x+r$. Note that if a path has a touch sequence of the form $r s r$, it also has sequences of the forms $r, s, r s$, and $s r$. We shall say that a path has a touch sequence of the form $r$ rh if it has a sequence of the form rsrs..rs with $h$ pairs $r s$, and it has a touch sequence of the form $r r h$ if it has a sequence of the form $r s r s \ldots r s r$ with $h$ pairs $r s$. Similarly we define sequences of the form $s r h$ and $s s h$.

Let $\alpha$ be a path from $(0,0)$ to $(n, k)$ which possesses an $r s h$ touch sequence. In its last rsh sequence, let $a_{1}$ be the last point where $\alpha$ touches $y=x+r$ in its first collection of $r$ touches; le ${ }^{*}=b_{1}$ be the last point where $\alpha$ touches $y=x-s$ in its first collection of $s$ touches; let $\alpha_{2}$ be the last point where $\alpha$ touches $y=x+r$ in its second collection of $r$ touches, etc. Now reflect that portion of $\alpha$ between $a_{1}$ and ( $n, k$ ) about the line $y=x+r$. This new path $\alpha^{\prime}$ goes from $(0,0)$ to $(k-r, n+r)$. The point $b_{1}$ now lies on the line $y=$ $x+2 r+s$. Reflect the portion of $\alpha^{\prime}$ from $b_{1}$ to ( $k-r, n+r$ ) about the line $y=x+2 r+s$. The new path $\alpha^{\prime \prime}$ goes from $(0,0)$ to $(n-r-s, k+r+s)$. Reflecting the portion of $\alpha^{\prime \prime}$ between $a_{2}$ (which now lies on $y=x+3 r+2 s)$ and ( $n-r-s, k+r+s$ ) about the line $y=x+3 r+2 s$ we obtain a new path from $(0,0)$ to

$$
(k-2 r-s, n+2 r+s)
$$

Continuing this process we eventually obtain a path from $(0,0)$ to $(n-h(r+s), k+h(r+s))$. Since this process is reversible, the number of paths from $(0,0)$ to $(n, k)$ with an rsh touch sequence is $\binom{n+k}{k+h(r+s)}$. Similarly, the number of paths with an rrh touch sequence is $\binom{n+k}{k-r-h(r+s)}$, the number with an $s r h$ touch sequence is $\binom{n+k}{k-h(r+s)}$; and the number with an ssh touch sequence is
$\binom{n+k}{k+s+h(r+s)}$. Hence we have that

$$
\begin{aligned}
D(n, k ; r, s)=\binom{n+k}{k} & -\sum_{h=0}\binom{n+k}{k-r-h(r+s)} \\
& -\sum_{h=0}\binom{n+k}{k+s+h(r+s)} \\
& +\sum_{h=1}\binom{n+k}{k+h(r+s)} \\
& +\sum_{h=1}\binom{n+k}{k-h(r+s)} .
\end{aligned}
$$

If $\alpha$ is a weighted lattice path from $(0,0)$ to $(n, k)$ with $t$ diagonal steps having an rsh touch sequence, then by romoving the diagonal steps we obtain a path from $(0,0)$ to $(n-t, k-t)$ with an $r s h$ touch sequence. Hence the number of weighted paths from $(0,0)$ to ( $n, k$ ) with $t$ diagonal steps having an $r s h$ touch sequence is

$$
\binom{n+k-2 t}{k-t+h(r+s)}\binom{n+k-t}{t} x^{n-t} y^{k-t} z^{t}
$$

Therefore the number of weighted paths from $(0,0)$ to $(n, k)$ with an rsh touch sequence is

$$
\begin{aligned}
& \sum_{t=0}\binom{k+h(r+s)}{t}\binom{n+k-t}{k+h(r+s)} x^{n-t} y^{k-t} \boldsymbol{z}^{t} \\
= & \left(\frac{y}{x}\right)^{-h(r+s)} f(n-h(r+s), k+h(r+s))
\end{aligned}
$$

Similarly, the number of weighted paths with an rrh touch sequence is $(y / x)^{r+h(r+s)} f(n+r+h(r+s), k-r-h(r+s))$, the number with an $s r h$ touch sequence is $(y / x)^{h(r+s)} f(n+h(r+s), k-h(r+s))$, and the number with an ssh touch sequence is

$$
(y / x)^{-s-h(r+s)} f(n-s-h(r+s), k+s+h(r+s)) .
$$

Hence if $d(n, k ; r, s)$ is the number of weighted lattice paths from $(0,0)$ to $(n, k)$ which remain below the line $y=x+r$ and above the line $y=x-s$, then

$$
\begin{aligned}
d(n, k ; r, s)= & f(n, k) \\
& -\sum_{h=0}\left(\frac{y}{x}\right)^{r+h(r+s)} f(n+r+h(r+s), k-r-h(r+s)) \\
& -\sum_{h=0}\left(\frac{y}{x}\right)^{-s-h(r+s)} f(n-s-h(r+s), k+s+h(r+s))
\end{aligned}
$$

$$
\begin{aligned}
& +\sum_{h=1}\left(\frac{y}{x}\right)^{-h(r+s)} f(n-h(r+s), k+h(r+s)) \\
& +\sum_{h=1}\left(\frac{y}{x}\right)^{h(r+s)} f(n+h(r+s), k-h(r+s))
\end{aligned}
$$

5. The number of paths below $\mathbf{y}=\mathbf{s x}+\mathbf{r}$. Let $e(n, k ; r, s)$ be the number of weighted lattice paths from $(0,0)$ to $(n, k)$ which remain below the line $x=s y-r$, where $s$ and $r$ are integers, $s \geqq 1$ and $r \geqq 0$. Also let $r=s q-t$ where $0 \leqq t<s$. Since

$$
e(n, k ; r, s)=f(n, k)
$$

if $k<q$ or $n<t$, we shall assume throughout this section that $k \geqq q$ and $n \geqq t$. As before we shall determine the number of paths from $(0,0)$ to $(n, k)$ which touch the line $x=s y-r$. Any such path must touch the line at a last point, which will have coordinates $(t+s j, q+j)$ for $j=0,1, \cdots, k-q$. The number of paths from $(0,0)$ to ( $n, k$ ) which touch $x=s y-r$ for the last time at $(t+s j, q+j$ ) is $f(t+s j, q+j) b(n-t-s j, k-q-j, s)$. Thus the total number of paths from ( 0,0 ) to ( $n, k$ ) which touch $x=s y-r$ is

$$
\begin{equation*}
\sum_{j=0}^{k-q} f(t+s j, q+j) b(n-t-s j, k-q-j, s) \tag{5.1}
\end{equation*}
$$

Then

$$
\begin{align*}
e(m+t, p+q ; r, s)= & f(m+t, p+q)  \tag{5.2}\\
& -\sum_{j=0}^{p} f(t+s j, q+j) b(m-s j, p-j, s)
\end{align*}
$$

for any nonnegative integers $m$ and $p$. Combining (5.1) with (2.2) and (3.7) we have that the second term on the right of (5.2) has the explicit expression

$$
\begin{aligned}
& \sum_{u=0}^{p+q} x^{m+t-u} y^{p+q-u} z^{u} \sum_{j=0}^{p} \sum_{h=0}^{u} \frac{m-s p}{p-j}\binom{q+j}{u-h}\binom{p-j}{h} \\
& \binom{q+t+j(s+1)-u+h}{q+j}\binom{m+p-j(s+1)-1-h}{p-j-1}
\end{aligned}
$$

The numbers $e(n, k ; r, s)$ can also be expressed as a determinant. Counting the number of paths from $(0,0)$ to $(n+r, k)$ which remain below $x=s y$ according to the points where these paths intersect the line $x=r$, we have

$$
\begin{equation*}
b(n+r, k, s)=x^{r} e(n, k ; r, s)+\sum_{j=1}^{q-1} h(r, j, s) e(n, k-j ; r-j s, s), \tag{5.3}
\end{equation*}
$$

where

$$
h(r, j, s)=b(r, j, s)-b(r, j-1, s)
$$

By repeated application of (5.3) we get
(5.4) $e(n, k ; r, s)=x^{-r} \sum_{j=0}^{q-1}(-1)^{j} C(r, s, j) b(n+r-j s, k-j, s)$,
where $C(r, s, 0)=1$ and, for $j \geqq 1, C(r, s, j)$ is the determinant of the $j \times j$ matrix ( $c_{u, v}$ ) defined by

$$
c_{u, v}= \begin{cases}0 & \text { if } v>u+1 \\ 1 & \text { if } v=u+1 \\ x^{u s-r} h(r-(v-1) s, u-v+1, s) & \text { if } v<u+1\end{cases}
$$

In order to prove (5.4) note that if $C(r, s, j)$ is expanded about its first column, we have

$$
\begin{equation*}
C(r, s, j)=\sum_{i=1}^{j}(-1)^{i+1} x^{i s-r} h(r, i, s) C(r-i s, s, j-i) \tag{5.5}
\end{equation*}
$$

The proof of (5.4) will be completed by induction on $q$. For $q=1$ the equation follows directly from (5.3). Assuming the equation true for integers less than or equal to $q$ we have from (5.3) and (5.4) that

$$
\begin{aligned}
e(n, k ; r, s)= & x^{-r} b(n+r, k, s) \\
& -x^{-r} \sum_{j=1}^{q} h(r, j, s) x^{-(r-j s)} \\
& \times \sum_{i=0}^{q-j}(-1)^{i} C(r-j s, s, i) b(n+r-s(i+j), k-i-j, s) \\
= & x^{-r} b(n+r, k, s) \\
& -x^{-r} \sum_{u=1}^{q} b(n+r-u s, k-u, s) \\
& \times \sum_{j=1}^{u}(-1)^{u-j} x^{-(r-j s} h(r, j, s) C(r-j s, s, u-j)
\end{aligned}
$$

We then obtain the desired result by applying (5.5).
The determinantal expression for $e(n, k ; r, s)$ follows from (5.4); specifically,

$$
e(n, k ; r, s)=(-1)^{q-1} \operatorname{det}\left(v_{i j}\right)
$$

where $\left(v_{i j}\right)$ is the $q \times q$ matrix defined by

$$
v_{i j}= \begin{cases}0 & \text { if } j>i+1 \\ 1 & \text { if } j=i+1 \\ x^{-r} b(n+r-(j-1) s, k-j+1, s) & \text { if } i=q \\ x^{i s-r} h(r-(j-1) s, i-j+1, s) & \text { if } j \leqq i<q\end{cases}
$$

Now let $\alpha$ be any path from $(0,0)$ to ( $n, k$ ) which remains below the line $y=s x+r$, where $s$ is a positive integer. If we interchange the initial and terminal points of $\alpha$ and reverse the direction of the path, we obtain a path from $(0,0)$ to $(k, n)$ which remains below the line $x=s y-n s+k-r$ and whose horizontal and vertical weights have been interchanged. Since this procedure gives us a one-to-one correspondence, we have that the number of paths from $(0,0)$ to $(n, k)$ which remain below $y=s x+r$, for $s$ a positive integer, is $(y / x)^{-(n-k)}$ $e(k, n ; n s+r-k, s)$.

## 6. Generating functions for $\mathbf{b}(\mathrm{n}, \mathrm{k})$. Let

$$
b_{n}(u)=\sum_{k=0}^{n-1} b(n, k) u^{k} .
$$

Since the numbers $b(n, k)$ satisfy the recurrence (3.6) with $s=1$, we obtain

$$
\begin{equation*}
(1-y u) b_{n}(u)=(x+z u) b_{n-1}(u)-y u^{n} b(n, n-1) \tag{6.1}
\end{equation*}
$$

for $n>1$. Repeated application of this relation yields

$$
(1-y u)^{n} b_{n}(u)=x(x+z u)^{n-1}-y \sum_{j=1}^{n}(1-y u)^{j-1}(x+z u)^{n-j} u^{j} b(j, j-1)
$$

which is an extension of equation (2.3) in [1].
Next we shall determine the generating function $b(u)$ for $b(n+1, n)$. By definition $b(n+1, n)$ is the number of weighted lattice paths from $(0,0)$ to $(n+1, n)$ which remain below $y=x$. We shall count these paths according to the last point, excluding $(n+1, n)$, where each touches $y=x-1$. There are $y b(1,0) b(n, n-1)$ paths which last touch $y=x-1$ at $(1,0)$; there are $y b(2,1) \times$ $b(n-1, n-2)$ paths which last touch the line at $(2,1)$, etc. Hence

$$
b(n+1, n)=z b(n, n-1)+y \sum_{j=0}^{n-1} b(j+1, j) b(n-j, n-1-j)
$$

for $n \geqq 1$. Then

$$
\begin{aligned}
b(u) & =\sum_{n=0}^{\infty} b(n+1, n) u^{n} \\
& =x+z u b(u)+y u b^{2}(u)
\end{aligned}
$$

and therefore

$$
b(u)=\frac{1}{2 y u}\left[(1-u z)-\sqrt{(1-u z)^{2}-4 x y u}\right] .
$$

For $x=y=1$ and $z=0$ this reduces to the generating function for
the Catalan numbers (c.f. equation (1.3) in [1]).
We can also determine the generating functions

$$
\beta_{k}(u)=\sum_{n=k+1}^{\infty} b(n, k) u^{n}
$$

and

$$
b(u, v)=\sum_{n=1}^{\infty} \sum_{k=0}^{n-1} b(n, k) u^{n} v^{k}
$$

Note that

$$
b(u, v)=\sum_{n=1}^{\infty} b_{n}(v) u^{n}=\sum_{k=0}^{\infty} \beta_{k}(u) v^{k} .
$$

From (6.1) it follows that

$$
(1-y v) b(u, v)=x u+(x+z v) u b(u, v)-y u v b(u v),
$$

and hence

$$
\begin{align*}
b(u, v)= & u(x-y v b(u v))[(1-x u)-v(y+z u)]^{-1} \\
= & u(x-y v b(u v)) \sum_{k=0}^{\infty} v^{k} \sum_{n=0}^{\infty} f(n, k) u^{n} \\
= & \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} x f(n, k) v^{k} u^{n+1}  \tag{6.2}\\
& -\sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} y f(n, k) b(s+1, s) v^{k+s+1} u^{n+s+1}
\end{align*}
$$

Therefore

$$
\begin{align*}
\beta_{k}(u) & =\sum_{n=0}^{\infty} x f(n, k) u^{n+1}-\sum_{n=0}^{\infty} u^{n+1} \sum_{s=0}^{k-1} y f(n-s, k-1-s) b(s+1, s)  \tag{6.3}\\
& =\frac{u(y+z u)^{k}}{(1-x u)^{k+1}}\left\{x-y \sum_{s=0}^{k=1} b(s+1, s)\left(\frac{1-x u}{y+z u}\right)^{s+1} u^{s}\right\}
\end{align*}
$$

The equations (6.2) and (6.3) are extensions of equations (3.1) and (3.10) in [1]. Comparing coefficients of $u$ in (6.3) we have for $n<k$ that

$$
f(n, k)=\frac{y}{x} \sum_{s=0}^{n} f(n-s, k-1-s) b(s+1, s)
$$

and for $n>k$

$$
f(n, k+1)=\frac{1}{x}\left[b(n+1, k+1)+y \sum_{s=0}^{k} f(n-s, k-s) b(s+1, s)\right] .
$$

Of course these expressions can be obtained directly; this would give another derivation of (6.3).

## References

1. L. Carlitz and J. Riordan, Two element lattice permutation numbers and their $q$-generalizations, Duke Math. J., 31 (1964), 371-388.
2. L. Carlitz, D. P. Roselle, and R. A. Scoville, Some remarks on Catalan-type sequences of positive integers, to appear in J. Combinatorial Theory.
3. William Feller, An Introduction to Probability Theory and Its Applications, 3rd ed., Wiley, New York, 1968.
4. R. C. Lyness, Al Capone and the death ray, Math. Gaz., 25 (1941), 283-287.
5. P. A. MacMahon, Combinatory Analysis, 2 vols. in 1, New York, Chelsea, 1960; originally published in 1915 and 1916.
6. S. G. Mohanty and B. R. Handa, On lattice paths with several diagonal steps, Canadian Math. Bull., 11 (1968), 537-545.
7. S. G. Mohanty and T. V. Narayana, Some properties of compositions and their applications to probability and statistics I, Biometrische Z., 3 (1961), 252-258.
8. L. Moser and W. Zayachkowski, Lattice paths with diagonal steps, Scripta Math., 26 (1961), 223-229.
9. John Riordan, Combinatorial Identities, Wiley, New York, 1968.
10. V. K. Rohatgi, A note on lattice paths with diagonal steps, Canadian Math. Bull., 7(1964), 470-472.
11. R. G. Stanton and D. D. Cowan, Note on a "square" functional equation, SIAM Review, 12 (1970), 277-279.

Received July 23, 1970. The first author was supported in part by a summer grant from the Florida State University Committee on Faculty Research Support. The second author was supported in part by National Science Foundation grant GP-11397.

Florida State University and
Louisiana State University

